
2

4

1

1

8

3

5

7
6

 3.49 

14.46
BACK COVER

 1.40 

 12.96 
 12.49 

 3.51 

13.75
INSIDE  15.00 

 14.22 

AA

 11.66 

 2.51 

 6.08  1.53 
SECTION A-A

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 SIDE2-BUGBOARDFT1 BUGBOARD FLAT TOP #1 - SIDE 2
2 TOP-BUGBOARDFT1 BUGBOARD FLAT TOP #1 - TOP 1
3 BOTTOM-BUGBOARDFT1 BUGBOARD FLAT TOP #1 - BOTTOM 1
4 FRONT-BUGBOARDFT1 BUGBOARD FLAT TOP #1 - FRONT 1
5 BACK-BUGBOARDFT1 BUGBOARD FLAT TOP - REAR COVER 1
6 10-24 T-NUT 10-24 TEE NUT 1
7 10-24 x .5 lg Thumbscrew 10-24 X 1/2 IN LG. THUMBSCREW 1
8 MID-BUGBOARDFT1-R1 BUGBOARD FLAT TOP #1 - MID PLATE 1

GRADE:

PAINT / MATL FINISH:

DATE DRAWN: JUN. 2/2016
STOCK DESCRIPTION:

APPROVED BY:CHK'ED BY:

BGH

FILE NO.

BREAK ALL SHARP CORNERS

CONCENTRICITY 0.010" TIR
MACHINE FINISH 125 RMS

MACHINE INTERNAL RADII:  .015"

DEFAULT TOLERANCES:

X.X = 0.030"
X.XX = 0.015"

X.XXX = 0.005"

FRACTIONAL: 1/16"
SAW: +0, -3/32"  
HOLES: +1/64" - 0"
ANGULAR:    1/2

DATE:APP
BY:DESCRIPTION:

DO NOT SCALE FROM DWG
SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED, 
DIMENSIONS ARE IN INCHES.

SCALE: 1:8 WEIGHT:   3.2   LBS

REV #:

DESCRIPTION:

DWG BY:

RAW MATERIAL:

REVISED
BY:

REV.
NO.

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF LJ WELDING 
AUTOMATION.  ANY REPRODUCTION IN PART OR 
AS A WHOLE WITHOUT THE WRITTEN PERMISSION 

OF LJ WELDING AUTOMATION IS STRICTLY 
PROHIBITED.

BUGBOARDFT1

BUGBOARD - FLAT TOP #1 - FULL 
ASSEMBLY

HANNAH GUITARS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Section View A-A


